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ik 732 38 205 197 9% 194 2
100.0 5.2 28.0 26.9 13.1 26.5 0.3
R 217 15 44 60 30 68 -
100.0 6.9 20.3 27.6 13.8 31.3 -
z 263 13 92 68 28 61 1
R |
100.0 4.9 35.0 25.9 10.6 23.2 0.4
g w2 10 67 67 34 63 1
100.0 4.1 207 217 14.0 26.0 0.4
B 369 26 109 89 48 95 2
100.0 7.0 29.5 2.1 13.0 25.7 0.5
wa [2E 362 1 9% 108 47 99 -
100.0 3.3 26.5 29.8 13.0 27.3 -
CESICEHTIRES R - - - - - - -
1885~ 195% 10 2 5 2 - 1 -
100.0 20.0 50.0 20.0 - 10.0 -
20/~ 29%% 78 7 27 15 7 2 -
100.0 9.0 34.6 19.2 9.0 28.2 -
303~ 39%% 85 3 30 20 7 2% 1
100.0 3.5 35.3 23.5 8.2 28.2 1.2
[0 ~a9z 134 5 40 31 20 38 -
=2 vl i~ 40
100.0 3.7 29.9 23.1 14.9 28.4 -
503~ 59%% 102 1 20 34 17 30 -
100.0 1.0 19.6 33.3 16.7 29.4 -
60R%~69%% 102 6 30 36 17 18 -
100.0 5.9 29.4 35.3 11.8 17.6 -
08 L 220 14 53 59 32 61 1
100.0 6.4 2.1 26.8 14.5 2.7 0.5
EHEL TS (BEIE - /S— 490 19 143 134 59 133 2
bFr—zas) 100.0 3.9 29.2 27.3 12.0 27.1 0.4
ey (S| L 169 14 50 41 2 38 -
Gl 100.0 8.3 29.6 2.3 15.4 22.5 -
FEIEL TLV2hY, B - BRI 72 5 12 22 10 23 -
S 100.0 6.9 16.7 30.6 13.9 31.9 -
BHA, B 478 2 146 131 57 120 2
BiEng 100.0 4.6 30.5 21.4 11.9 25.1 0.4
B | Tk, mE P 252 16 59 66 38 73 -
100.0 6.3 23.4 26.2 15. 1 29.0 -
PRt 511 2 145 150 7 122 1
BEOE 100.0 4.3 28.4 29.4 13.9 23.9 0.2
BIZEIE | ragpgy 129 10 2 32 13 31 1
mCEZ
Y 100.0 7.8 32.6 2.8 10.1 24.0 0.8
2UT [pasin 84 4 18 14 17 36 -
100.0 4.8 21.4 16.7 14.3 42.9 -
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" 732 62 403 95 61 10 100 1 0.71
100.0 8.5 55.1 13.0 8.3 1.4 13.7 0.1
R 217 20 116 25 13 5 38 - 0.74
100.0 9.2 53.5 1.5 6.0 2.3 17.5 -
z 263 19 157 38 18 2 28 1 0.74
R |
100.0 7.2 59.7 14.4 6.8 0.8 10.6 0.4
g w2 2 125 32 29 3 31 - 0. 64
100.0 9.1 51.7 13.2 12.0 1.2 12.8 -
T 369 29 189 57 45 10 39 - 0. 55
100.0 7.9 51.2 15.4 12.2 2.7 10.6 -
wa [2E 362 3 214 38 16 - 60 1 0.88
100.0 9.1 59.1 10.5 4.4 - 16.6 0.3
CESICEHTIRES R - - - - - - - - -
1885~ 19%% 10 - 6 1 1 - 2 - 0.63
100.0 - 60.0 10.0 10.0 - 20.0 -
20/~ 29%% 78 3 37 12 11 - 15 - 0.51
100.0 3.8 47.4 15.4 14.1 - 19.2 -
303~ 39%% 85 4 37 14 17 4 14 - 0.35
100.0 4.7 4.5 16.5 14.1 4.7 16.5 -
[0 ~a9z 134 14 70 13 15 3 19 - 0.67
=2 vl i~ 40
100.0 10.4 52.2 9.7 1.2 2.2 14.2 -
50R%~59%% 102 1 50 14 10 1 15 - 0.7
100.0 11.8 49.0 13.7 9.8 1.0 14.7 -
60R%~69%% 102 10 72 8 4 - 7 1 0.94
100.0 9.8 70.6 7.8 3.9 - 6.9 1.0
0L 220 19 131 3 8 2 27 - 0.81
100.0 8.6 59.5 15.0 3.6 0.9 12.3 -
EEL TS (BEIE - /S— 490 51 283 57 25 8 65 1 0.81
br—zas) 100.0 10.4 57.8 1.6 5.1 1.6 13.3 0.2
ey [EEL L 169 6 81 30 29 2 21 - 0. 41
Gl 100.0 3.6 47.9 17.8 17.2 1.2 12.4 -
EIEL TULV, BEE - 563 72 5 39 8 7 - 13 - 0.7
S 100.0 6.9 54.2 1.1 9.7 - 18.1 -
BHA, BEE 478 38 251 62 54 9 64 - 0.62
BEng 100.0 7.9 52.5 13.0 1.3 1.9 13.4 -
B | ok, mE. P 252 2 152 33 7 1 34 1 0.88
100.0 9.5 60.3 13.1 2.8 0.4 13.5 0.4
PR3t 511 49 306 57 35 6 57 1 0.79
BEOE 100.0 9.6 59.9 1.2 6.8 1.2 1.2 0.2
BIZEIE | ragpgy 129 9 61 19 19 4 17 T
mCEZ
3C8ic 100.0 7.0 47.3 14.7 14.7 3.1 13.2 -
2UT [pastin 84 4 31 19 7 - 23 - 0.52
100.0 4.8 36.9 22.6 8.3 - 27.4 -
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100.0 6.7 40.0 16.7 20.0 - 16.7 -
302 ~395% 48 1 20 10 9 4 4 - 0.11
100.0 2.1 4.7 20.8 18.8 8.3 8.3 -
[0 ~a9z 67 3 30 9 17 3 10 - 0.32
gy [ORR
100.0 4.5 4.8 13.4 17.9 4.5 14.9 -
50% ~59%% 50 5 2% 7 8 1 5 - 0.53
100.0 10.0 48.0 14.0 16.0 2.0 10.0 -
60%% ~695% 53 6 31 7 4 - 5 - 0.81
100.0 11.3 58.5 13.2 7.5 - 9.4 -
0L 116 1 69 19 5 2 9 - 0.79
100.0 10.3 59.5 16.4 4.3 1.7 7.8 -
EEL TS (BEIE - /S— 255 24 141 33 19 8 30 - 0. 68
br—zas) 100.0 9.4 55.3 12.9 7.5 3.1 1.8 -
ey [EEL L 99 4 M 2 2 2 8 - 0. 25
Gl 100.0 4.0 4.4 22.2 2.2 2.0 8.1 -
EIEL TULV, BEE - 563 15 1 7 2 4 - 1 - 0.36
L 100. 0 6.7 46,17 13.3 26.1 - 6.7 -
BHA, BEE 261 16 128 40 M 9 27 - 0.43
BEng 100.0 6.1 49.0 15.3 15.7 3.4 10.3 -
B | ok, mE. P 108 13 61 17 4 1 17 - 0.84
100.0 12.0 56. 5 15.7 3.7 0.9 1.1 -
PR3t 224 20 126 31 23 6 18 - 0.64
BEOE 100.0 8.9 56.3 13.8 10.3 2.7 8.0 -
BIZEIE | ragpgy 90 7 8 12 16 4 8 1 a0
mCEZ
3C8ic 100. 0 7.8 47.8 13.3 17.8 4.4 8.9 -
2UT [pastin 50 2 17 14 6 - 11 - 0.38
100.0 4.0 34.0 28.0 12.0 - 22.0 -

243



P 6 FEFHREOELZHRAZEICHT S REREHHEERSSE

2 HEEATREBE. BRETEHCLO>TLHERSH

[Zz1%] (B - 8. TE - %)
Er] 28 | BC o BC | 5% 5 o B
= | s = x5 % H ] =
# n | hs ns 73\‘ 5 =
k| Th h £ 12
2 we& (AP # L\
Iz 3L 3L I
2 zZ zZ 2
B (& (& &
= 8 % =
n % % n
< ) 2\ T
L & & L\
" 362 33 214 38 16 60 1 0.88
100.0 9.1 59.1 10.5 4.4 16.6 0.3
R 108 10 58 14 4 2 - 0. 86
100.0 9.3 53.7 13.0 3.7 20.4 -
z 131 11 82 16 6 15 1 0. 85
R |
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100.0 9.3 61.0 6.8 5.1 17.8 -
S - - - - - - - -
wa [2E 362 3 214 38 16 60 1 0.88
100.0 9.1 59.1 10.5 4.4 16.6 0.3
CESICEHTIRES R - - - - - - - -
188%~192% 5 - 3 1 - 1 - 0.75
100.0 - 60.0 20.0 - 20.0 -
208~ 2985 48 1 25 7 5 10 - 0.58
100.0 2.1 52.1 14.6 10.4 20.8 -
302 ~395% 37 3 17 4 3 10 - 0.74
100.0 8.1 45.9 10.8 8.1 27.0 -
[0 ~a9z 67 11 40 4 3 9 - 1.02
=2 vl i~ 40
100.0 16.4 59.7 6.0 4.5 13.4 -
50% ~59%% 52 7 2 7 2 10 - 0.90
100.0 13.5 50.0 13.5 3.8 19.2 -
60%% ~695% 49 4 M 1 - 2 1 1.07
100.0 8.2 83.7 2.0 - 4.1 2.0
0L 104 7 62 14 3 18 - 0. 85
100.0 6.7 59. 6 13.5 2.9 17.3 -
EEL TS (BEIE - /S— 235 21 142 2 6 35 1 0.95
br—zas) 100.0 1.5 60. 4 10.2 2.6 14.9 0.4
ey [EEL L 70 2 40 8 7 13 - 0. 65
Gl 100.0 2.9 57.1 1.4 10.0 18.6 -
EIEL TULV, BEE - 563 57 4 32 6 3 12 - 0.82
S 100.0 7.0 56. 1 10.5 5.3 211 -
BHA, BEE 217 2 123 2 13 37 - 0. 86
BEng 100.0 10.1 56. 7 10.1 6.0 17.1 -
B | ok, mE. P 144 1 91 16 3 2 1 0.91
100.0 7.6 63.2 1.1 2.1 15.3 0.7
PR3t 286 29 180 26 17 38 1 0.91
BEOE 100.0 10.1 62.9 9.1 4.2 13.3 0.3
BIZEIE | ragpgy 39 2 18 7 3 9 1 063
mCEZ
3C8ic 100.0 5.1 46.2 17.9 7.7 23.1 -
2UT [pastin 34 2 14 5 1 17 - 0.77
100.0 5.9 nw 14.7 2.9 35.3 -

244




VI SREtR

13 ROPHFTHINEZFTHZERIN ORELET
(R - fH TE - %)

Er] 5 B Ea B Z n = =
S P 5 & 5 1 iy E =
% H 5 5 m 5 =%
3 iy » £ i
2 & & ) (A
I Ly Ly I
[ zZ zZ 2
8 3 £ 8
B ey
[ [
pa)) pa))
& &
o 732 70 305 205 66 19 62 5 0.51
100.0 9.6 .7 28.0 9.0 2.6 8.5 0.7
e 217 18 86 61 19 6 25 2 0.48
100.0 8.3 39.6 28.1 8.8 2.8 1.5 0.9
z 263 25 107 7 2 8 19 1 0.47
R |
100.0 9.5 40.7 29.3 9.9 3.0 7.2 0.4
Ee U2 2 110 63 21 5 16 1 0.58
100.0 10.7 45.5 26.0 8.7 21 6.6 0.4
Bt 369 13 158 10 44 15 27 2 0.32
100.0 3.5 0.8 29.8 1.9 4.1 7.3 0.5
e |2 362 57 147 94 2 4 35 3 0.7
100.0 15.7 40.6 26.0 6.1 1.1 9.7 0.8
CESIZEHTIRES B - - - - - - - - -
182 ~19% 10 - 5 3 1 - 1 - 0. 44
100.0 - 50. 0 30.0 10.0 - 10.0 -
0%~29%% 78 5 21 23 12 3 14 - 0.20
100.0 6.4 26.9 29.5 15.4 3.8 17.9 -
305 ~39%% 85 7 37 16 12 6 7 - 0.35
100.0 8.2 4.5 18.8 14.1 7.1 8.2 -
 a0s%~493 134 15 47 39 13 6 14 - 0.43
FAA R4
100.0 1.2 35.1 29.1 9.7 4.5 10.4 -
505~ 5928 102 10 44 35 7 1 5 - 0.57
100.0 9.8 431 34.3 6.9 1.0 4.9 -
602~ 6928 102 9 46 35 8 - 4 - 0.57
100.0 8.8 451 34.3 7.8 - 3.9 -
08 E 220 2 105 53 13 3 17 5 0. 68
100.0 10.9 47.7 2.1 5.9 1.4 7.7 2.3
EELTIND (BEE - /S— 490 49 221 147 32 8 2 3 0. 60
br—zas) 100.0 10.0 46.3 30.0 6.5 1.6 4.9 0.6
EtR [EIEL TLARN 169 14 51 A 27 9 27 - 0.24
il 100.0 8.3 30.2 2.3 16.0 5.3 16.0 -
EEL TR, BEE - 565 7 7 27 16 7 2 1 2 0.51
L 100. 0 9.7 37.5 22.2 9.7 2.8 15.3 2.8
A, BEE 478 41 191 139 51 13 03 - 0.45
B0 100.0 8.6 40.0 29.1 10.7 2.1 9.0 -
B | ok, mE. P 252 29 13 65 15 6 19 5 0.63
100.0 11.5 44.8 25.8 6.0 2.4 7.5 2.0
PR3t 511 52 22 143 44 12 37 1 0.55
B 100.0 10.2 43.4 28.0 8.6 2.3 7.2 0.2
BIZEIE | ragpgy 129 12 62 28 14 4 8 1 0.53
mCEZ
3Celc 100.0 9.3 48.1 2.7 10.9 3.1 6.2 0.8
DWT [hhsi 84 6 20 29 7 3 17 2 0.29
100.0 7.1 23.8 34.5 8.3 3.6 20.2 2.4
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o 369 13 158 110 44 15 27 2 0.32
100.0 3.5 42.8 29.8 1.9 4.1 7.3 0.5
g 109 3 46 30 13 4 12 1 0.32
100.0 2.8 4.2 27.5 1.9 3.7 1.0 0.9
= 132 4 56 39 19 7 7 - 0.25
) [
100.0 3.0 4.4 29.5 14.4 5.3 5.3 -
e 124 6 55 39 17 4 8 - 0. 41
100.0 4.8 4.4 31.5 9.7 3.2 6.5 -
Bt 369 13 158 110 44 15 27 2 0.32
100.0 3.5 4.8 29.8 1.9 4.1 7.3 0.5
N T 1 1 7 1 1 1 -
CESICEBTIEESAL - - - - - - - - -
1885~ 19%% 5 - 3 1 1 - - - 0.40
100.0 - 60.0 20.0 20.0 - - -
20/~ 29%% 30 - 10 10 6 1 3 - 0.07
100.0 - 33.3 33.3 20.0 3.3 10.0 -
303~ 39%% 48 - 20 8 8 6 6 - 0.00
100.0 -l AT 16.7 16.7 12.5 12.5 -
[0 ~a9z 67 2 2 2 8 6 7 - 0.10
gy [ORR
100.0 3.0 32.8 32.8 1.9 9.0 10.4 -
50R%~59%% 50 3 23 17 5 1 1 - 0. 45
100.0 6.0 46.0 34.0 10.0 2.0 2.0 -
60R%~69%% 53 3 2 19 6 - 3 - 0. 44
100.0 5.7 415 35.8 1.3 - 5.7 -
0L E 116 5 58 3 10 1 7 2 0.52
100.0 4.3 50.0 28.4 8.6 0.9 6.0 1.7
EEL TS (BEIE - /S— 255 119 79 26 7 15 1 0.40
br—zas) 100.0 3.1 46.7 31.0 10.2 27 5.9 0.4
ey [EEL L 99 34 21 16 7 1 - 0.14
Gl 100.0 4.0 34.3 27.3 16.2 7.1 1.1 -
EIEL TULV, BEE - 563 15 1 5 4 2 1 1 1 0.23
S 100.0 6.7 33.3 26.7 13.3 6.7 6.7 6.7
BHA, BEE 261 6 109 78 35 13 20 - 0.25
BEng 100.0 2.3 4.8 29.9 13.4 5.0 7.7 -
B | ok, mE. P 108 7 49 32 9 2 7 2 0.51
100.0 6.5 4.4 29.6 8.3 1.9 6.5 1.9
TR%t 224 6 102 66 27 9 14 - 0.33
BEOE 100.0 27| 455 29.5 12.1 4.0 6.3 -
BIZEIE | ragpgy 90 6 45 21 1 4 3 1 0w
mCEZ
3C8ic 100.0 6.7 50.0 23.3 12.2 4.4 3.3 -
VT [phsnin 50 1 1 18 6 2 10 0.08
100.0 2.0 22.0 36.0 12.0 4.0 20.0 4.0
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o 362 57 147 94 2 4 35 3 0.7
100.0 15.7 40.6 26.0 6.1 1.1 9.7 0.8
e 108 15 40 31 6 2 13 1 0. 64
100.0 13.9 37.0 28.7 5.6 1.9 12.0 0.9
z 131 21 51 38 7 1 12 1 0.7
R |
100.0 16.0 38.9 29.0 5.3 0.8 9.2 0.8
Ee 118 20 55 2% 9 1 8 1 0.77
100.0 16.9 46.6 20.3 7.6 0.8 6.8 0.8
S - - - - - - - - -
e |2 362 57 147 94 2 4 35 3 0.7
100.0 15.7 40.6 26.0 6.1 1.1 9.7 0.8
CESIZEHTIRES B - - - - - - - - -
182 ~19% 5 - 2 2 - - 1 - 0.50
100.0 - 40.0 40.0 - - 20.0 -
0%~29%% 48 5 1 13 6 2 1 - 0.30
100.0 10.4 22.9 27.1 12.5 4.2 22.9 -
305 ~39%% 37 7 17 8 4 - 1 - 0.75
100.0 18.9 45.9 21.6 10.8 - 2.7 -
R 67 13 25 17 5 - 7 - 0.77
FAA R4
100.0 19.4 37.3 25.4 7.5 - 10.4 -
505~ 5928 52 7 21 18 2 - 4 - 0. 69
100.0 13.5 40.4 34.6 3.8 - 7.7 -
602~ 6928 49 6 2% 16 2 - 1 - 0.7
100.0 12.2 49.0 32.7 4.1 - 2.0 -
08 E 104 19 47 20 3 2 10 3 0.86
100.0 18.3 45.2 19.2 2.9 1.9 9.6 2.9
FEIELTVD (|EE - /(— 235 M 108 68 6 1 9 2 0.81
br—zas) 100.0 17.4 46.0 28.9 2.6 0.4 3.8 0.9
AR [ L Tha L ) 10 17 14 1 2 16 - 0.41
il 100.0 14.3 2.3 20.0 15.7 2.9 22.9 -
EEL TR, BEE - 565 57 6 2 12 5 1 10 1 0.59
L 100. 0 10.5 38.6 211 8.8 1.8 17.5 1.8
O A, BEEE 217 35 82 61 16 - 23 - 0.70
BEDE 100.0 16.1 37.8 28.1 7.4 - 10.6 -
B | ok, mE. P 144 2 64 33 6 4 17 3 0.73
100.0 15.3 44.4 22.9 4.2 2.8 8.3 2.1
PR3t 286 46 120 76 17 3 23 1 0.72
BLDE 100.0 16.1 4.0 26.6 5.9 1.0 8.0 0.3
BIZEIE | ragpgy 39 6 17 7 3 - 5 1 0.79
mCEZ
&I 100.0 15.4 43.6 17.9 7.7 - 12.8 2.6
DWT [hhsi 34 5 9 11 1 1 7 - 0.59
100.0 14.7 26.5 32.4 2.9 2.9 20.6 -
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" 732 95 306 169 37 10 99 16 0.71
100.0 13.0 4.8 23.1 5.1 1.4 13.5 2.2
R 217 33 83 47 9 1 38 6 0.80
100.0 15.2 38.2 2.7 4.1 0.5 17.5 2.8
z 263 35 119 55 13 4 33 4 0.74
R |
100.0 13.3 45.2 20.9 4.9 1.5 12.5 1.5
g w2 26 103 63 14 5 26 5 0.62
100.0 10.7 4.6 26.0 5.8 2.1 10.7 2.1
T 369 42 147 9% 21 10 45 8 0. 60
100.0 11.4 39.8 26.0 5.7 2.7 12.2 2.2
wa [2E 362 53 159 7 16 - 54 8 0.83
100.0 14.6 4.9 19.9 4.4 - 14.9 2.2
CESICEBTIEESAL - - - - - - - - -
1885~ 19%% 10 - 4 3 - - 3 - 0.57
100.0 - 40.0 30.0 - - 30.0 -
20/~ 29%% 78 5 27 30 5 1 10 - 0. 44
100.0 6.4 34.6 38.5 6.4 1.3 12.8 -
303~ 39%% 85 8 M 17 10 4 5 - 0.49
100.0 9.4 48.2 20.0 11.8 4.7 5.9 -
[0 ~a9z 134 19 56 32 17 3 12 - 0.62
=2 vl i~ 40
100.0 14.2 4.8 23.9 9.0 2.2 9.0 -
50R%~59%% 102 16 39 31 4 1 1 - 0.71
100.0 15.7 38.2 30.4 3.9 1.0 10.8 -
60R%~69%% 102 19 40 21 4 - 12 - 0.82
100.0 18.6 39.2 26.5 3.9 - 11.8 -
0L 220 28 99 28 2 1 46 16 0.96
100.0 12.7 45.0 1.7 0.9 0.5 20.9 7.3
EEL TS (BEE - /S— 490 67 211 103 26 3 66 14 0.76
br—zas) 100.0 13.7 43.1 21.0 5.3 0.6 13.5 2.9
ey [EEL L 169 17 66 54 10 6 16 - 0.51
Gl 100.0 10.1 39.1 32.0 5.9 3.6 9.5 -
FEIEL TUVEAY, BEE - SR 72 1 29 11 1 1 17 2 0.91
S 100.0 15.3 40.3 15.3 1.4 1.4 23.6 2.8
BHA, BEE 478 58 207 132 35 10 34 2 0. 61
BEng 100.0 12.1 4.3 27.6 7.3 2.1 7.1 0.4
B | ok, mE. P 252 37 99 36 2 - 64 14 0.98
100.0 14,7 39.3 14.3 0.8 - 25.4 5.6
PR3t 511 67 233 116 25 5 59 6 0.74
BEOE 100.0 13.1 45.6 2.7 4.9 1.0 1.5 1.2
BIZEIE | ragpgy 129 18 8 32 10 3 17 6 0.59
mCEZ
3C8ic 100.0 14.0 33.3 2.8 7.8 2.3 13.2 4.7
2UT [pastin 84 9 27 19 2 2 2 3 0. 66
100.0 10.7 32.1 22.6 2.4 2.4 26.2 3.6
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100.0 14.7 40.4 23.9 4.6 0.9 13.8 1.8
z 132 18 58 32 6 4 17 2 0. 68
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100.0 13.6 4.9 2.2 4.5 3.0 9.1 1.5
g 124 8 44 36 10 5 18 3 0.39
100.0 6.5 35.5 29.0 8.1 4.0 14.5 2.4
Bt 369 42 147 9% 21 10 45 8 0. 60
100.0 11.4 39.8 26.0 5.7 2.7 12.2 2.2
N T 1 1 7 1 1 1 -
CESICEHTIRES R - - - - - - - - -
188%~192% 5 - 3 1 - - 1 - 0.75
100.0 - 60.0 20.0 - - 20.0 -
208~ 2985 30 2 11 11 2 1 3 - 0.41
100.0 6.7 36.7 36.7 6.7 3.3 10.0 -
302 ~395% 48 3 20 10 7 4 4 - 0. 25
100.0 6.3 4.7 20.8 14.6 8.3 8.3 -
[0 ~a9z 67 8 21 2 8 3 5 - 0.37
gy [ORR
100.0 11.9 31.3 32.8 11.9 4.5 7.5 -
50% ~59%% 50 8 21 17 1 1 2 - 0.7
100.0 16.0 4.0 34.0 2.0 2.0 4.0 -
60%% ~695% 53 10 16 17 2 - 8 - 0.76
100.0 18.9 30.2 32.1 3.8 - 15.1 -
0L 116 11 55 18 1 1 2 8 0. 86
100.0 9.5 47.4 15.5 0.9 0.9 19.0 6.9
EEL TS (BEE - /S— 255 32 103 58 14 3 37 8 0.70
br—zas) 100.0 12.5 40.4 22.7 5.5 1.2 14.5 3.1
ey [EEL L 99 8 38 33 7 6 7 - 0.38
Gl 100.0 8.1 38.4 33.3 7.1 6.1 7.1 -
EIEL TULV, BEE - 563 15 2 6 5 - 1 1 - 0.57
L 100. 0 13.3 40.0 33.3 - 6.7 6.7 -
BHA, BEE 261 28 105 78 20 10 18 2 0.50
BEng 100.0 10.7 40.2 29.9 7.7 3.8 6.9 0.8
B | ok, mE. P 108 14 2 18 1 - 27 6 0.92
100.0 13.0 38.9 16.7 0.9 - 25.0 5.6
PR3t 224 2 102 56 17 5 23 2 0.64
BEOE 100.0 10.7 45.5 25.0 5.4 2.2 10.3 0.9
BIZEIE | ragpgy 90 13 28 2% 8 3 10 o0
mCEZ
3C8ic 100. 0 14.4 31.1 26.7 8.9 3.3 1.1 4.4
2UT [pastin 50 5 15 14 1 2 11 2 0.54
100.0 10.0 30.0 28.0 2.0 4.0 22.0 4.0
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M3 ROSBCBUNTETHZEERSH OBIET
[Zz1%] (B - 8. TE - %)
Er] 5 B o BC Z » £ B
= % 5 = 5 o i ] =
# H 5 5 73\‘ 5 =
3 T T £ 2
2 & & ) (A
I LY Ly I
Z zZ zZ 2
& (& (& B
B z
{3 {3
ya)) ya))
2 2
" 362 53 159 7 16 54 8 0.83
100.0 14.6 4.9 19.9 4.4 14.9 2.2
R 108 17 39 21 4 23 4 0. 85
100.0 15.7 36.1 19.4 3.7 21.3 3.7
z 131 17 61 23 7 21 2 0.81
R |
100.0 13.0 4.6 17.6 5.3 16.0 1.5
g 118 18 59 21 4 8 2 0. 84
100.0 15.3 50.0 22.9 3.4 6.8 1.7
S - - - - - - - -
wa [2E 362 53 159 7 16 54 8 0.83
100.0 14.6 4.9 19.9 4.4 14.9 2.2
CESICEHTIRES R - - - - - - - -
1885~ 19%% 5 - 1 2 - 2 - 0.33
100.0 - 20.0 40.0 - 40.0 -
20/~ 29%% 48 3 16 19 3 7 - 0. 46
100.0 6.3 33.3 39.6 6.3 14.6 -
303~ 39%% 37 5 21 7 3 1 - 0.78
100.0 13.5 56.8 18.9 8.1 2.1 -
[0 ~a9z 67 11 35 10 4 7 - 0.88
=2 vl i~ 40
100.0 16.4 52.2 14.9 6.0 10.4 -
50R%~59%% 52 8 18 14 3 9 - 0.72
100.0 15.4 34.6 26.9 5.8 17.3 -
60R%~69%% 49 9 2 10 2 4 - 0. 89
100.0 18.4 49.0 2.4 4.1 8.2 -
0L 104 17 44 10 1 2% 8 1.07
100.0 16.3 0.3 9.6 1.0 23.1 7.7
EEL TS (BEIE - /S— 235 35 108 45 12 29 6 0.83
br—zas) 100.0 14.9 46.0 19.1 5.1 12.3 2.6
ey [EEL L 70 9 28 21 3 9 - 0.70
Gl 100.0 12.9 40.0 30.0 4.3 12.9 -
EIEL TULV, BEE - 563 57 9 23 6 1 16 2 1.03
S 100.0 15.8 40.4 10.5 1.8 28.1 3.5
BHA, BEE 217 30 102 54 15 16 - 0.73
BEng 100.0 13.8 47.0 2.9 6.9 7.4 -
B | ok, mE. P 144 23 57 18 1 37 8 1.03
100.0 16.0 39.6 12.5 0.7 25.7 5.6
PR3t 286 83 131 59 13 36 4 0.83
BEOE 100.0 15.0 45.8 20.6 4.5 12.6 1.4
BIZEIE | ragpgy 39 5 15 8 2 7 | om
mCEZ
3C8ic 100.0 12.8 38.5 20.5 5.1 17.9 5.1
2UT [pastin 34 4 17 5 1 11 1 0. 86
100.0 11.8 35.3 14.7 2.9 32.4 2.9

250




VI SREtR

F3 ROPHTEEANFEETHDERIND QFEREBNET
(R - fH TE - %)

Er] 5 B Ea B Z n = =
S P 5 & 5 1 iy E =
% H 5 5 m 5 =%
3 iy » £ i
2 & & ) (A
I Ly Ly I
[ zZ zZ 2
8 3 £ 8
B ey
[ [
M H
& &
o 732 15 120 346 25 5 206 15 0.23
100.0 2.0 16.4 47.3 3.4 0.7 28.1 2.0
e 217 4 28 97 8 2 73 5 0.17
100.0 1.8 12.9 44.7 3.7 0.9 33.6 2.3
z 263 4 55 124 5 2 68 5 0.28
R |
100.0 1.5 20.9 47.1 1.9 0.8 25.9 1.9
Ee U2 6 36 121 12 1 62 4 0.19
100.0 2.5 14.9 50. 0 5.0 0.4 25.6 1.7
Bt 369 7 50 189 16 5 95 7 0.14
100.0 1.9 13.6 51.2 4.3 1.4 25.7 1.9
e |2 362 8 70 157 9 - 110 8 0.32
100.0 2.2 19.3 43.4 2.5 - 30.4 2.2
CESIZEHTIRES B - - - - - - - - -
182 ~19% 10 - 2 7 1 - - - 0.10
100.0 - 20.0 70.0 10.0 - - -
0%~29%% 78 1 10 M 8 - 18 - 0.07
100.0 1.3 12.8 52.6 10.3 - 23.1 -
305 ~39%% 85 2 9 4 5 3 25 - 0.03
100.0 2.4 10.6 48.2 5.9 3.5 29.4 -
 a0s%~493 134 3 18 70 3 2 38 - 0.18
FAA R4
100.0 2.2 13.4 52.2 2.2 1.5 28.4 -
505~ 5928 102 - 17 47 5 - 33 - 0.17
100.0 - 16.7 461 4.9 - 32.4 -
602~ 6928 102 5 16 55 1 - 25 - 0.32
100.0 4.9 15.7 53.9 1.0 - 2.5 -
08 E 220 4 48 85 2 - 66 15 0.39
100.0 1.8 21.8 38.6 0.9 - 30.0 6.8
EELTIND (BEE - /S— 490 8 82 240 1 1 135 13 0.25
br—zas) 100.0 1.6 16.7 49.0 2.2 0.2 27.6 217
EtR [EIEL TLARN 169 6 25 78 13 4 03 - 0.13
il 100.0 3.6 14.8 46.2 7.7 2.4 25.4 -
EEL TR, BEE - 565 7 1 13 28 1 - 27 2 0.33
L 100. 0 1.4 18.1 38.9 1.4 - 37.5 2.8
A, BEE 478 9 67 246 2 5 129 - 0.15
B0 100.0 1.9 14.0 51.5 4.6 1.0 27.0 -
B | ok, mE. P 252 6 53 99 3 - 76 15 0.39
100.0 2.4 21.0 39.3 1.2 - 30.2 6.0
PR3t 511 13 89 251 18 2 132 6 0.25
B 100.0 2.5 17.4 49.1 3.5 0.4 25.8 1.2
BIZEIE | ragpgy 129 1 19 63 5 2 34 5 0.13
mCEZ
3Celc 100.0 0.8 14.7 48.8 3.9 1.6 26.4 3.9
DWT [hhsi 84 1 1 30 2 1 36 3 0.20
100.0 1.2 13.1 35.7 2.4 1.2 0.9 3.6
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B3 ROSBTELNTLETHZERSD OLEBEENET
€213 (B - 8. TE - %)
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o 369 7 50 189 16 5 95 7 0.14
100.0 1.9 13.6 51.2 4.3 4 25.7 1.9
g 109 2 14 54 4 2 31 2 0.13
100.0 1.8 1.8 49.5 3.7 .8 28.4 1.8
= 132 3 2 64 2 2 36 3 0.24
) [
100.0 2.3 16.7]  48.5 1.5 .5 27.3 2.3
e 124 2 13 69 10 1 28 1 0.05
100.0 1.6 10.5 55. 6 8.1 .8 22.6 0.8
Bt 369 7 50 189 16 5 95 7 0.14
100.0 1.9 13.6 51.2 4.3 4 25.7 1.9
N T 1 1 7 1 1 1 -
CESICEBTIEESAL - - - - - - - - -
1885~ 19%% 5 - 1 4 - - - - 0.20
100.0 - 20.0 80.0 - - - -
20/~ 29%% 30 - 3 17 5 - 5 A 008
100.0 - 10.0 56.7 16.7 - 16.7 -
303~ 39%% 48 - 1 23 5 3 16 4 -0
100.0 - 2.1 471.9 10.4 3 33.3 -
[0 ~a9z 67 3 7 34 1 2 20 - 0.17
gy [ORR
100.0 4.5 10.4 50.7 1.5 .0 29.9 -
50R%~59%% 50 - 7 21 3 - 13 - 0.11
100.0 - 14.0 54.0 6.0 - 26.0 -
60R%~69%% 53 3 5 3 - - 12 - 0.27
100.0 5.7 9.4 62.3 - - 22.6 -
0L E 116 1 2 51 2 - 29 7 0.33
100.0 0.9 2.4 4.0 1.7 - 25.0 6.0
EEL TS (BEIE - /S— 255 4 35 133 6 1 69 7 0.20
br—zas) 100.0 1.6 13.7 52.2 2.4 4 27.1 217
ey [EEL L 99 3 13 46 10 4 23 - 0.01
Gl 100.0 3.0 13.1 46.5 10.1 .0 23.2 -
EIEL TULV, BEE - 563 15 - 2 10 - - 3 - 0.17
S 100.0 - 13.3 66.7 - - 20.0 -
BHA, BEE 261 5 25 146 14 5 66 - 0. 06
BEng 100.0 1.9 9.6 55.9 5.4 .9 25.3 -
B | ok, mE. P 108 2 25 8 2 - 29 7 0.38
100.0 1.9 23.1 39.8 1.9 - 26.9 6.5
TR%t 224 5 32 126 9 2 48 2 0.17
BEOE 100.0 2.2 14.3 56. 3 4.0 .9 21.4 0.9
BIZEIE | ragpgy 90 1 14 83 5 2 2 3 0.11
mCEZ
3C8ic 100.0 1.1 15.6]  47.8 5.6 2 2.4 3.3
VT [phsnin 50 1 4 19 2 1 21 2 0.07
100.0 2.0 8.0 38.0 4.0 .0 4.0 4.0
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VI SREtR

F3 ROPHTEEANFEETHDERIND QFEREBNET
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B ey
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o 362 8 70 157 9 - 110 8 0.32
100.0 2.2 19.3 43.4 2.5 - 30.4 2.2
e 108 2 14 43 4 - 2 3 0.22
100.0 1.9 13.0 39.8 3.7 - 38.9 2.8
z 131 1 33 60 3 - 32 2 0.33
R |
100.0 0.8 25.2 45.8 2.3 - 2.4 1.5
Ee 118 4 23 52 2 - 34 3 0.36
100.0 3.4 19.5 4.1 1.7 - 28.8 2.5
S - - - - - - - - -
e |2 362 8 70 157 9 - 110 8 0.32
100.0 2.2 19.3 43.4 2.5 - 30.4 2.2
CESIZEHTIRES B - - - - - - - - -
182 ~19% 5 - 1 3 1 - - - 0. 00
100.0 - 20.0 60. 0 20.0 - - -
0%~29%% 48 1 7 2 3 - 13 - 0.17
100.0 2.1 14.6 50. 0 6.3 - 27.1 -
305 ~39%% 37 2 8 18 - - 9 - 0.43
100.0 5.4 216 48.6 - - 2.3 -
R 67 - 1 36 2 - 18 - 0.18
FAA R4
100.0 - 16.4 53.7 3.0 - 26.9 -
505~ 5928 52 - 10 20 2 - 20 - 0.25
100.0 - 19.2 38.5 3.8 - 38.5 -
602~ 6928 49 2 1 2 1 - 13 - 0.39
100.0 4.1 22.4 44.9 2.0 - 26.5 -
08 E 104 3 2 34 - - 37 8 0.47
100.0 2.9 2.2 32.7 - - 35.6 7.7
FEIELTVD (|EE - /(— 235 4 47 107 5 - 66 6 0.31
br—zas) 100.0 1.7 20.0 45.5 2.1 - 28.1 2.6
AR [ L Tha L ) 3 12 EY) 3 - 20 - 0.30
il 100.0 4.3 17.1 45.7 4.3 - 28.6 -
EEL TR, BEE - 565 57 1 1 18 1 - 2 2 0.39
L 100. 0 1.8 19.3 31.6 1.8 - 4.1 3.5
O A, BEEE 217 4 ) 100 8 - 63 - 0.27
BEDE 100.0 1.8 19.4 46.1 3.7 - 29.0 -
B | ok, mE. P 144 4 28 56 1 - 47 8 0.39
100.0 2.8 19.4 38.9 0.7 - 32.6 5.6
PR3t 286 8 57 125 9 - 83 4 0.32
BLDE 100.0 2.8 19.9 43.7 3.1 - 29.0 1.4
E=zEE | f _ _ _
e | T 39 5 20 12 2 0.20
&I 100.0 - 12.8 51.3 - - 30.8 5.1
DWT [hhsi 34 - 7 11 - - 15 1 0.39
100.0 - 20.6 32.4 - - 4.1 2.9
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13 ROJHFTHBINEFTHDERSN OHET (BIER - BEBKE - NP0 )
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Z zZ zZ 2
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B z
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ya)) ya))
2 2
" 732 87 253 169 50 13 153 7 0. 61
100.0 11.9 34.6 23.1 6.8 1.8 20.9 1.0
R 217 33 61 53 11 4 54 1 0. 67
100.0 15.2 28.1 2.4 5.1 1.8 2.9 0.5
z 263 30 105 55 18 2 49 4 0. 68
R |
100.0 11.4 39.9 20.9 6.8 0.8 18.6 1.5
g w2 23 85 59 21 6 47 1 0.51
100.0 9.5 35.1 2.4 8.7 2.5 19.4 0.4
T 369 35 121 106 25 ¥ 68 3 0.48
100.0 9.5 32.8 28.7 6.8 3.0 18.4 0.8
wa [2E 362 52 132 63 25 2 84 4 0.76
100.0 14.4 36.5 17.4 6.9 0.6 23.2 1.1
CESICEBTIEESAL - - - - - - - - -
1885~ 19%% 10 - 2 4 - - 4 - 0.33
100.0 - 20.0 40.0 - - 40.0 -
20/~ 29%% 78 6 18 2 3 - 29 - 0.55
100.0 7.7 23.1 28.2 3.8 - 37.2 -
303~ 39%% 85 10 19 17 6 7 26 - 0.32
100.0 11.8 2.4 20.0 7.1 8.2 30.6 -
[0 ~a9z 134 21 45 21 17 3 25 1 0. 64
=2 vl i~ 40
100.0 15.7 33.6 20.1 9.0 2.2 18.7 0.7
50R%~59%% 102 7 34 24 15 3 19 - 0.33
100.0 6.9 33.3 23.5 14.7 2.9 18.6 -
60R%~69%% 102 15 45 2 5 - 1 - 0.77
100.0 14.7 44.1 25.5 4.9 - 10.8 -
0L 220 28 90 49 9 - 38 6 0.78
100.0 12.7 40.9 22.3 4.1 - 17.3 2.7
EEL TS (BEIE - /S— 490 69 180 106 36 6 89 4 0. 68
br—zas) 100.0 14.1 36.7 21.6 7.3 1.2 18.2 0.8
ey [EEL L 169 11 52 47 8 6 44 1 0. 44
Gl 100.0 6.5 30.8 27.8 4.7 3.6 26.0 0.6
FEIEL TUVEAY, BEE - SR 72 7 21 16 6 1 19 2 0.53
S 100.0 9.7 29.2 22.2 8.3 1.4 26.4 2.8
BHA, BEE 478 55 149 120 39 12 101 2 0.52
BEng 100.0 1.5 31.2 25.1 8.2 2.5 21.1 0.4
B | ok, mE. P 252 32 103 49 1 1 51 5 0.79
100.0 12.7 40.9 19.4 4.4 0.4 20.2 2.0
PR3t 511 65 195 112 31 7 99 2 0. 68
BEOE 100.0 12.7 38.2 21.9 6.1 1.4 19.4 0.4
BIZEIE | ragpgy 129 13 39 31 14 5 2 1 0.40
mCEZ
3C8ic 100.0 10.1 30.2 2.0 10.9 3.9 20.2 0.8
2UT [pastin 84 9 18 2 5 1 27 2 0.53
100.0 10.7 21.4 26.2 6.0 1.2 32.1 2.4
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13 ROJHFTHBINEFTHDERSN OHET (BIER - BEBKE - NP0 )
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" 369 35 121 106 25 11 68 3 0.48
100.0 9.5 32.8 28.7 6.8 3.0 18.4 0.8
R 109 16 28 34 6 4 21 - 0.52
100.0 14.7 25.7 31.2 5.5 3.7 19.3 -
z 132 10 52 34 7 2 25 2 0.58
) [
100.0 7.6 39.4 25.8 5.3 1.5 18.9 1.5
g 124 9 40 36 17 5 2 - 0.35
100.0 7.3 32.3 29.0 9.7 4.0 .7 -
Bt 369 35 121 106 25 ¥ 68 3 0.48
100.0 9.5 32.8 28.7 6.8 3.0 18.4 0.8
N T 1 1 7 1 1 1 -
CESICEHTIRES R - - - - - - - - -
188%~192% 5 - 1 2 - - 2 - 0.33
100.0 - 20.0 40.0 - - 40.0 -
208~ 2985 30 4 4 10 1 - 11 - 0.58
100.0 13.3 13.3 33.3 3.3 - 36.7 -
302 ~395% 48 4 10 11 3 7 13 - 0.03
100.0 8.3 20.8 22.9 6.3 14.6 27.1 -
[0 ~a9z 67 7 19 16 7 3 14 1 0.38
gy [ORR
100.0 10.4 28.4 23.9 10.4 4.5 20.9 1.5
50% ~59%% 50 3 16 19 6 1 5 - 0.31
100.0 6.0 32.0 38.0 12.0 2.0 10.0 -
60%% ~695% 53 6 18 20 3 - 6 - 0.57
100.0 11.3 34.0 37.7 5.7 - 1.3 -
0L 116 11 53 28 5 - 17 2 0.72
100.0 9.5 45.7 2.1 4.3 - 14.7 1.7
EEL TS (BEE - /S— 255 28 87 74 19 4 M 2 0. 55
br—zas) 100.0 1.0 34.1 29.0 7.5 1.6 16.1 0.8
ey [EEL L 99 6 28 28 6 6 2% 1 0.30
Gl 100.0 6.1 28.3 28.3 6.1 6.1 2.2 1.0
EIEL TULV, BEE - 563 15 1 6 4 - 1 3 - 0.50
L 100. 0 6.7 40.0 26.7 - 6.7 20.0 -
BHA, BEE 261 20 79 83 20 10 48 1 0.37
BEng 100.0 7.7 30.3 31.8 7.7 3.8 18.4 0.4
B | ok, mE. P 108 15 2 23 5 1 20 2 0.76
100.0 13.9 38.9 21.3 4.6 0.9 18.5 1.9
PR3t 224 19 83 67 13 5 37 - 0.52
BEOE 100.0 8.5 37.1 29.9 5.8 2.2 16.5 -
BIZEIE | ragpgy 90 9 28 21 9 5 17 1 0.38
mCEZ
3C8ic 100.0 10.0 31.1 23.3 10.0 5.6 18.9 1.1
2UT [pastin 50 7 9 15 3 1 13 2 0.51
100.0 14.0 18.0 30.0 6.0 2.0 26.0 4.0
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" 362 52 132 63 25 2 84 4 0.76
100.0 14.4 36.5 17.4 6.9 0.6 23.2 1.1
R 108 17 33 19 5 - 33 1 0. 84
100.0 15.7 30.6 17.6 4.6 - 30.6 0.9
z 131 20 53 21 11 - 2 2 0.78

R |

100.0 15.3 40.5 16.0 8.4 - 18.3 1.5

g 118 14 45 23 9 1 25 1 0.67
100.0 1.9 38.1 19.5 7.6 .8 21.2 0.8

S - - - - - - - - -

wa [2E 362 52 132 63 25 2 84 4 0.76
100.0 14.4 36.5 17.4 6.9 .6 23.2 1.1

CESICEHTIRES R - - - - - - - - -

1885~ 19%% 5 - 1 2 - - 2 - 0.33
100.0 - 20.0 40.0 - - 40.0 -

20/~ 29%% 48 2 14 12 2 - 18 - 0.53
100.0 4.2 29.2 25.0 4.2 - 37.5 -

303~ 39%% 37 6 9 6 3 - 13 - 0.75
100.0 16.2 2.3 16.2 8.1 - 35.1 -

[0 ~a9z 67 14 2 11 5 - 11 - 0.88

=2 vl i~ 40
100.0 20.9 38.8 16.4 7.5 - 16.4 -

50R%~59%% 52 4 18 5 9 2 14 - 0.34
100.0 7.7 34.6 9.6 17.3 .8 26.9 -
60R%~69%% 49 9 27 6 2 - 5 - 0.98
100.0 18.4 5.1 12.2 4.1 - 10.2 -
0L 104 17 37 21 4 - 21 4 0.85
100.0 16.3 35.6 2.2 3.8 - 20.2 3.8
EEL TS (BEIE - /S— 235 4 93 32 17 2 48 2 0.83
br—zas) 100.0 17.4 39.6 13.6 7.2 .9 20.4 0.9
ey [EEL L 70 5 2% 19 2 - 20 - 0.64
Gl 100.0 7.1 34.3 27.1 2.9 - 28.6 -
FEIEL TUVEAY, BEE - SR 57 6 15 17 6 - 16 2 0.54
S 100.0 10.5 26.3 2.1 10.5 - 28.1 3.5
BHA, BEE 217 35 0 37 19 2 53 1 0.72
BEng 100.0 16.1 32.3 17.1 8.8 .9 2.4 0.5
B | ok, mE. P 144 17 61 26 6 - 31 3 0.81
100.0 11.8 4.4 18.1 4.2 - 21.5 2.1
PR3t 286 46 112 45 18 2 61 2 0.82

BEOE 100.0 16.1 39.2 15.7 6.3 i 21.3 0.7

BIZEIE | ragpgy 39 4 1 10 5 - 9 I o

mCEZ

3C8ic 100.0 10.3 28.2 25.6 12.8 - 23.1 -

2UT [pastin 34 2 9 7 2 - 14 - 0. 55
100.0 5.9 26.5 20.6 5.9 - 4.2 -
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100.0 36.5 39.3 9.0 0.8 0.5 13.0 0.8
e 217 82 77 16 - 1 38 3 1.36
100.0 37.8 35.5 7.4 - 0.5 17.5 1.4
z 263 100 112 18 2 1 28 2 1.32
R |
100.0 38.0 0.6 6.8 0.8 0.4 10.6 0.8
Ee U2 83 98 30 3 1 21 - 1.20
100.0 34.3 40.5 12.4 1.2 0.4 1.2 -
B 369 13 158 45 3 2 44 4 1.17
100.0 30.6 0.8 12.2 0.8 0.5 1.9 1.1
e |2 362 154 130 21 3 1 51 2 1.40
100.0 4.5 35.9 5.8 0.8 0.3 14.1 0.6
CESIZEHTIRES B - - - - - - - - -
182 ~19% 10 2 5 1 - - 2 - 1.13
100.0 20.0 50. 0 10.0 - - 20.0 -
0%~29%% 78 21 2 10 1 1 17 - 1.20
100.0 34.6 28.2 12.8 1.3 1.3 21.8 -
305 ~39%% 85 31 31 9 1 1 12 - 1.23
100.0 36.5 36.5 10.6 1.2 1.2 14.1 -
 a0s%~493 134 56 55 8 - - 15 - 1.40
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Ee 79 4 1 16 29 2 - 3
100.0 5.1 1.3 20.3 36.7 32.9 - 3.8
Bk - - - - - - - -
e |2 235 11 5 48 85 78 2 6
100.0 4.7 2.1 20.4 36.2 33.2 0.9 2.6
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182 ~19% - - - - - - - -
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IR BB L TLRn - - - - - - - -
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FEIBL TUVERY, B - ) - - - - - - - -
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BEDE 100.0 5.5 2.1 26.7 39.7 25.3 - 0.7
Bl (mgm - 2k mE 24 88 3 2 9 21 40 2 5
100.0 3.4 2.3 10.2 30.7 45.5 2.3 5.7
PR3t 188 10 3 ) 68 59 2 4
BLOE 100.0 5.3 1.6 22.3 36.2 31.4 1.1 2.1
E=zEE | f _
e | T 28 1 1 3 9 13 1
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182 ~19% - - - - - - - -
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PR3t 339 88 79 57 60 46 6 3
B 100.0 26.0 23.3 16.8 1.7 13.6 1.8 0.9
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CESIZEHTIRES B - - - - - - - -
182 ~19% - - - - - - - -
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BEDE 100.0 26.7 22.6 17.8 8.9 18.5 4.8 0.7
B | ok, mE. P 88 21 2% 15 6 12 1 3
100.0 30.7 2.3 17.0 6.8 13.6 1.1 3.4
PR3t 188 51 44 35 18 33 5 2
BLDE 100.0 27.1 23.4 18.6 9.6 17.6 2.7 1.1
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&I 100.0 32.1 28.6 14.3 3.6 7.1 10.7 3.6
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BEOE 100. 0 35.7 9.4 1.7 8.3 25.1 2.4 1.5
BIZEIE | ragpgy 9% 31 8 3 9 39 1 3
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100.0 - 2.3 50.0 6.8 11.4 2.3 2.7 4.5
0L 101 1 6 30 8 6 15 28 7
100.0 1.0 5.9 29.7 7.9 5.9 14.9 2.7 6.9
FEELTIND (B - /S— 255 1 15 113 2 2 17 54 9
br—zas) 100.0 0.4 5.9 44.3 9.4 8.6 6.7 21.2 3.5
IR BB L TLRn - - - - - - - -|-
Al _ _ _ _ _ _ _ _l-
FEIEL TLV AN, B - BRI - - - - - - - e
BHA, BEE 175 - 10 87 19 19 4 32 4
BEng 100.0 - 5.7 49.7 10.9 10.9 2.3 18.3 2.3
B | ok, mE. P 80 1 5 26 5 3 13 2 5
100.0 1.3 6.3 32.5 6.3 3.8 16.3 27.5 6.3
PR3t 151 - 10 7 14 8 6 36 5
BEOE 100.0 - 6.6 47.7 9.3 5.3 4.0 23.8 3.3
BIZEIE | ragpgy 66 1 4 24 8 7 6 13 3
E"JIO_%Z_
3C8ic 100.0 1.5 6.1 36.4 2.1 10.6 9.1 19.7 4.5
2UT [pastin 33 - 1 17 1 5 3 5 1
100.0 - 3.0 51.5 3.0 15.2 9.1 15.2 3.0
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Ee 79 11 13 30 - - 4 17 4
100.0 13.9 16.5 38.0 - - 5.1 21.5 5.1
S - - - - - - - -|-
e |2 235 EY) ) 87 6 3 10 44 1
100.0 13.6 17.9 37.0 2.6 3 4.3 18.7 4.7
CESIZEHTIRES B - - - - - - - -|-
182 ~19% - - - - - - - -|-
0%~29%% 1 - 1 6 1 - - 3]-
100.0 - 9.1 54.5 9.1 - - 27.3|-
305 ~39%% 2 2 6 13 - 1 - 4]-
100.0 7.7 23.1 50. 0 - .8 - 15.4]-
R 56 11 13 20 2 - - 9 1
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100.0 19.6 23.2 35.7 3.6 - - 16.1 1.8
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100.0 1.6 14.0 44.2 - 3 7.0 20.9|-
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100.0 21.6 10.8 43.2 2.1 - 5.4 13.5 2.7
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100.0 9.7 19.4 21.0 3.2 .6 8.1 2.6 14.5
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br—zas) 100.0 13.6 17.9 37.0 2.6 3 4.3 18.7 4.7
IR BB L TLRn - - - - - - - -|-
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100.0 10.2 21.6 30.7 4.5 R 4.5 18.2 9.1
PR3t 188 27 36 68 4 3 5 37 8
BLDE 100.0 14.4 19.1 36.2 2.1 .6 2.7 19.7 4.3
E=zEE | f _
e | T 28 2 2 13 2 2 6 1
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100.0 8.3 14.0 52.2 8.3 7.6 5.7 3.8
Ee 130 1 20 68 6 7 10 8
100.0 8.5 15.4 52.3 4.6 5.4 7.7 6.2
B 201 1 15 13 2 2 17 9
100.0 0.5 7.5 56. 2 1.9 10.9 8.5 4.5
e |2 191 32 2 87 6 3 10 1
100.0 16.8 22.0 45.5 3.1 1.6 5.2 5.8
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100.0 7.7 18.5 40.8 6.9 3.1 13.1 10.0
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B 100.0 10.2 17.3 52.6 6.8 4.1 4.1 4.9
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100.0 1.7 8.6 44.8 8.6 5.2 22.4 8.6
PR3t 115 - 10 7 14 8 6 5
BLDE 100.0 - 8.7 62.6 12.2 7.0 5.2 4.3
BIZEIE | ragpgy 53 1 4 24 8 7 6 3
E"JIO_%Z_
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311



P 6 FEFHREOELZHRAZEICHT S REREHHEERSSE

10 RICHITEIREDEREE. EICHHIMESOTLDD OREOER LM - REDBAZRHDD
(R - 8 TR D %)

ER] ES e % e ES z ®
= i I = I & o &
# 5 5 7= 2 B2 1t =
= = % B @
V= 1= iy ) &
1z ] 1z
H = H
2 H 5
B A =
& = =
) 5 )
pa pa
" 490 36 81 237 51 50 21 14
100.0 7.3 16.5 48.4 10.4 10.2 4.3 2.9
R 132 5 2 67 19 15 2 2
100.0 3.8 16.7 50.8 14.4 11.4 1.5 1.5
z 187 1 35 88 17 18 9 8
) [
100.0 6.4 18.7 47.1 9.1 9.6 4.8 4.3
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188%~192% - - - - - - - -
208~ 2985 4 1 - 3 - - - -
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BEng 100.0 9.7 27.4 56. 0 2.9 1.1 2.3 0.6
B | ok, mE. P 80 12 15 35 3 3 6 6
100.0 15.0 18.8 43.8 3.8 3.8 7.5 7.5
PR3t 151 11 37 86 6 3 4 4
BEOE 100.0 7.3 2.5 57.0 4.0 2.0 2.6 2.6
BIZEIE | ragpgy 66 15 16 30 1 — 2 2
E"JIO_%Z_
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E=zEE | f
e | T 28 2 1 11 4 8 1 1
&I 100.0 7.1 3.6 39.3 14.3 28.6 3.6 3.6
DWT [hhsi 18 - - 10 4 3 1 -
100.0 - - 55. 6 2.2 16.7 5.6 -

314




